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Section A (5 X 2 marks)

For questions 1 to 5, four options are given. One of them is the correct
answer.

Make your choice and write its number 1, 2, 3 or 4 in the brackets provided.
Each question carries 2 marks.

1. in 4 957, the digit 9 is in the place.

(1) ones (2) tens

{3) hundreds (4) thousands ( )
2. 8 thousands + 1tens + 2 ones =

(1) 812 {2)8012

(3) 8 102 (4) 8 120 ( )

3. What is the sum of 2 982 and 5637

(1) 2 419 {2) 2 429
(3} 3445 (4) 3 545 ( )
4, 8 groups of 4 is the same as
{()8+4 " {2)8-4
(3) 8 x 4 (4)8+4 ( )
5. There were 2 160 men at the stadium. There were 921 more men than women.

How many women were at the stadium?
(1} 1239 (2) 2249

(3) 2 841 (4} 3 081 { )



Section B (4 X 1 mark, 5 X 2 marks)
For questions 6 to 14, show your working clearly in the space below each
question and write your answer in the answer boxes provided. Give your

answers in the units stated.
Questions 6 to 9 carries 1 mark each, while questions 10 to 14 caries 2

marks each.

6. In the number 5 102, the value of digit 1 is

7. Write six thousand and forty-two in numerals.

8. Arrange the following numbers from the smallest to the greatest.
Smallest ' ' > ' Greatest

9, T+7+7+7+7=7 x




10.. 5030 — 4780~=

11.  What are the missing numbers represented by A and B?

8 9 2 8
— 8 5 4
6 3 7 A

A:

B:

12. Dexter collected 7 stamps.
Jensen collected thirice as many stamps as Dexter.
How many stamps did they have altogether?

stamps




13. The difference between 2 numbers is 45.
The smaller number is 186.
What is the greater number?

14.  Daniel collected 72 game cards.

He collected 8 times as many cards as Jonathan.

How many game cards did Jenathan collect?

game cards




Section C (4 X 4 marks)
Read the following questions carefully. Show your workings and write your
answer clearly at the spaces provided at the end of each question.

15. 2 apples and 2 oranges cost $10.
2 apples and 4 oranges cost $14.

How much do 6 oranges cost?
Workings

Answer:




16. A wallet costs $9, and a smartphone cost $1 230.
A bag costs 5 times as much as the wallet.
How much more does the smartphone cost than the bag?

Workings

Answer:




17.  Raijah has 18 ducks and cows in his fam.
The ducks and cows have 48 legs altogether.
How many ducks and how many cows are there in Rajah’s farm'?

Workings

Answer: ducks

cows




18.

Najib tore his bank passbook by accident as he was
cleaning up his room.

In the passbook record, it is shown that he saved $6 in

the first month.
In the following months, he saves $6 more than the previous

month.
How many months will it take him to save $90 in totai?

I BANK PASSBOOK ]

Answer:

-End of Paper-

Workings
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28 stamps

231

9 game cards

$10 - $14 = $4 (2 oranges)
$4 +2 = $2 (1 orange)
$2x6=%12

6 oranges cost $12

$9 X 5= = $45 (bag)
$1230 - $45 = $1185

The smartphone cost $1185 more than the bag.
Assume all the animais are ducks.

18x2=36
48 -36 =12
4-2=2
12+2=6
18-6=12

There are 12 ducks and 6 cows.






Q18

Month 1 2 3 4 5
6+6= 12+6= | 18+6= 24 +6 =
Amount
saved 6 12 18 24 30
(%)
6+12= | 18+ 18= | 24+36=| 30+60=
Total (3)
6 18 36 60 90

He will take 5 months to save $90.
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Secfion A (10 x 2 marks each}
For each of the following questions, four options are given. Choose the comrect opfion
and shade its oval {1, 2, 3 or 4) in the Cptical Answer Sheet provided.

1. In7 913, the digit $ is in the place.
(1) ones
(2) fens

{3y  hundreds
{4)  thousands

2. Six thousand, six hundred and six is the same as

(1) 6086
2) 6606
(3) 6660
{4y 66686

3. 4040 is80morethan .

() 3240
(2) 3960
3y 4020
4y 4120

4,  What is the difference between 58 hundreds and 1 9657

() 1405
@ 1908
3 2021

4) 3635



5. -Alice had 8 boxes of cranges. There are 46 oranges in each box. How many
oranges dogs she have altogether?

(1) 38
2) 54
(3) 328
(4) 368

6. When a number is divided by 8, it gives a quotient of 23 and a remainder of 5,
What is the number?

() 115
(& 124
(3} 207
4 212

7. Jay has twice as many stamps as Zoe, Zoe has three fimes as many stamps as
Ann. Jay has 42 stamps. How many stamps does Ann have?

7
@ 14
@) 21
(4} 48

8. Kelly had some money In her wallet. She spent $15.45 and had $6.50 left. How
much money had she af first?

(h  $8.95

{2y #1115
(3} $2095
4  $21.95



9.

10.

A microwave oven costs 51 093 less than a refrigerator, If the microwave oven
costs $1445, how much does the refrigerator cost?

(1) $352
(2) 5452
(3) 32438
4) 32538

The given figures betow are made up of ines. Study the following paiterns.
How many dots are there in Figure 67

JAVAVANRR:

Figure 1 Figure 2 Figure 3 Figure 6
3 Dats 5 Dots 7 Dots ? Dots
(\y 12
2y 138
(3 15
4 18
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SECTION B - Short Answers {38 Marks)

Questions 11 to 20 cany 1 mark each. Questions 21 to 34 carry 2 marks each, Show all
workings clearly. Write your answer In the space provided. Give your answers in the
units stated and in its simplest form whanever possible. '

11. Write 8 412 in words.

Answer :

12. Complete the following number pattem,

185, 208, 231, 277, 300

Answer

13. Whatis the smallest 4-digit odd number that can be formed with tha digits
5,7, 1and 87

Answer :



14. Container X has 2 909 maibles, Container X has 10 marbles fewer than Container
Y. How many marbles are there in the two containers?

Answer

1§ Find the value of the digit 9 in 3482.

Answer:

16, Peiwen wanted fo arrange § roses in a vase. If she had 35 roses, how many
vases did she need?

Answer @




i7. What is the remainder when 238 is divided by 67

Answer -

18.  Zavier reads 4 books in a week. How many books will he read in 28 weeks?

Answer o

18. Tim has 6 fifty-cent coing, 5 twenty-cent coins and 3 five-cent ¢oins. How much
monay does Tim have?

Answer: %




20, Maxwants fo buy a toy car that cosis $78.45. He has $26.50 in his wallet. How
much more money doas Max nead to buy the toy car?

Answer : %

21. Thenumber174Cis tens less than 2 500.

Answar ; -

22. Acar can carry 7 people only. What is the smallest number of cars needed fo
camny 59 people?

Answer :




23 Which of these numbers are even numbers?

/'—\ ;'/ \
{ 102 >f’ mg><115)
4 \'\ /

Answer : and

24 The difference between two numbers is 540. If the smaller number is 182, what is
the sum of the two numbers?

Answer

25. When | add 135 to a number, | get 500, Vhat will | get if | subtract 56 from this
number?

Answer:

—



28. A farm has 8 horses and 6 chickens. A horse has 4 legs, while a chicken has
2 legs. How many legs of horses and chickens are there altogether in the faim?

Answer |

27. Jess baked 35 cupcakes. Pete baked 14 cupcakes. They packed all the cupcakes
equatly Inlo 7 boxes. How many cupcakes are there in each box?

Answer

28, | am a threa-digit number.
The digit in the hundreds place is 7 more than the digit in the tens place,

The digit In the tens place is 6 less than the digit In the ones place.
The digit In the ones place is B. '
What number am 12




2G. | am a number between 15 and 20. When | am divided by 2, the remainder is 1,
When { am divided by 4, the remainder is also 1. What number am [7

Answer :

30. Joseph bought a fan for $89.90 and a ketile for $39.90. He gave the cashier three
fifty-doflar notes. How much change did he receive?

Answer:% .

31. Mrs Lee buys 8 boxes of muffins. There are 4 muffins in each box. She wants to
put 2 muffins on each plate. How many plates will she need?

Answer :




32, Pamela wrapped 564 oranges into baskets of 6. She sold 32 baskels, how many
baskets were left unsold?

Answer

33. What number must be subtracted from the sum of 4 625 and 3425 fo
make 1 0007

Answer :

34. Btudy the diagram below.

%\ & _ﬁ@ .b:‘_'g_ Ji
If * + <l iﬁ*fgﬁ’*" B 51
by ZC;Q
and %+ % A—ﬁu— = 26
¥

Answer e .



SECTION C - Prob ums (22 Marks

Questions 35 to 36 camy 3 marks each. Questions 37 to 40 carry 4 marks each, Show
your working and mathematical stalements clearly in the space below each quastion.
Wiite your answer in the space provided. Express your answers in the unils stated and
in its simplest form whenever possible.

35, Karenis 17 years younger than her 80-year old brother, Tom.
What will be their total age in 13 years’ time?

Answer: [ 3]

36, The cost of 5 walches is the same as the cost of 2 necklaces. If each watch cost
$48, how much is the cost of sach necklace?

Answer (3]

0 -



37. Each chilkd received 7 lollipops and 2 chocolates at a parly. 180 lollipops and
chocolates were shared equally among these children. How many more lollipops
than chocolates were there?

Answer: [ 41

1



38. A bookshop sold notebooks at $3 each and pens at $2 each.

(a) On Monday, tha cashier collected $114 from the sale of some notebooks. How
many noteboaoks were sold on Morday? ‘

(b) On Tuesday, the cashier sold an equal number of notebooks and pens. The

cashiar colfected a total of $560. How much money did the cashier collect fram
the sale of the pens on Tuesday?

Answer: {3) _ {11
O (3]

o120



39, Warehouse X has 266 mattresses more than Warehouse Y, Warzhouse Y has
437 fewer matlresses than Wareshouse Z. If Warehouse Z has B50 mattresses,
how many mattresses are there in alf the Warehouses?

Answer: 14
13



40. There are 19 bicycles and tricycles in a park, A bicycle has 2 wheels, while a
tricycle has 3 wheels. If there are 45 wheels in the park, how many bicycles are

there?

Answer: [ 4]

End-of-Paper

44



Year: 2014

Level: Primary 3

School: Anglo-Chinese School (Primary)
Subject: Mathematics

Semester: SA1

Q1 Q2 Q3 Q4 Q5 Qo6 Q7 Q8 Q9 Q10

3 2 2 4 4 4 1 4 4 2

Q11) Eight thousand, four hundred and twelve.

Q12) 254

Q13) 1587

Q14) 5828

Q15) 90

Q16) 7

Q17) 4

Q18) 112

Q19) $4.15

Q20) $51.95

Q21) 76

Q22) 9

Q23) 126 and 102

Q24) 904

Q25) 309

Q26) 44

Q2N 7

Q28) 928

Q2917

Q30) $20.20

Q31) 16

Q32) 62

Q33) 7050

Q34)13

Q35) 50-17=33
33+13=46
50+13=63
63+46=109
Answer: 109

Q36) 46x5=230
230+2=115
Answer: 115

Q37) 180-+9=20
7-2=5
20x5=100
Answer: 100

Q38)a) 114+3=38




Answer: 38

b) 2+3=5

560+5=112

112x2=224
Answer: $224
Q39) 850-437=413 (Warehouse Y)
413+266=679 (Warehouse X)

413+679=1092 (Warehouse X+Y)

1092+850=1942 (Total no. of mattresses)
Answer: 1942
Q40) Method 1:

No. of No. of No. of No. of Sum of Check
tricycles wheels bicycles wheels wheels

9 9x3=27 10 10x2=20 47 X

8 8x3=24 11 11x2=22 46 X

7 7x3=21 12 12x2=24 45 X
Answer: 12

Method 2:

If all of the 19 bicycles and tricycles were tricycles,

No. of wheels

=19x3
=57
Difference
= 57-45
=12

Difference between no. of wheels of 1 bicycle and 1 ticycle

=3-2
=1

No. of bicycles

=12+
= ]2
Answer: 12
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SECTION A: Multiple-Choice Questions (15 x 2 marks)

For each of the question from 1 to 15, four options are given. One of
them is the correct answer. Make your choice (1, 2, 3 or 4). Shade
the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet (OAS).

1. Find the sum of 796 and 1349.

(1) 553

(2) 2035

(3) 2145

(4) 9309 ( )

2 Part of a scale is shown below. What is the value of the reading at X7?

slo

(1

Bl

(2)

jesiiey]

(3)

0|~
p—

(4)



How many angles are there in the figure?

/

(1)
(2)
(3)
(4)

BEN S e B

In the square grid, how many letters shown below have parallel
lines?

(1)
(2)
(3)
(4)

W N -

Zachary left a birthday party at 2.05 p.m.
He was at the party for 3 h 15 min.
At what time did he arrive at the party?

(1) 520 a.m.

(2) 10.50 a.m.

(3) 520 p.m.

(4) .10.50 p.m. { )



Find the product of 1064 and 7.

—
[

7028
7048
7428
7448

— ey T
BN
‘H.../v

6840 is 20 tens less than

(1) 6620
(2) 6640
(3) 7860
4) 7040

Bx6= groups of 4

What is the missing number in the blank?

(1) 36
(2) 54
3) ©
(4) 4

2 identical cups of water can fill a jug.
8 such jugs of water can fill a pail.
How many cups of water can fill a pail?

(1 ©
(2) 2
3) 10
(4) 16



10.

11.

12.

John bought 9 cans of cola from a supermarket at a special offer.
How much did he pay in ali?

Special offer
3 cans for $2.20

(1) $4.40
(2) $6.60
(3) $11.20
(4) $19.80 ( )

Fred donated $6574 o a local charity. He donated $480 less than
Peter. How much did Peter donate?

(1) $6094
2) $6114
(3) $6954
(4) $7054 ( )

Which one of the following numbers does not have a remainder
when divided by 57

(1) 223
(2) 230
(3) 364
(4) 891 ( )



13.

14.

The circle shown below is divided into equal parts.
What fraction of the figure is unshaded? '

1y £
@ 3
@ 5
@ 3 )

Calvin made a pizza. He atejé of the pizza and gave % of it to his

brother. What fraction of the pizza was left?

1 3
@
G) 3
@ = ¢ )



15.  Whatis the area of the shaded figure shown below?

1cm
4

1 ch

t% l
-
%f

M 11cem?

(2) 12 cm?

(3) 15em?

4) 16cm?



SECTION B: Open-ended Questions (6x1 mark and 14x2 marks)
Questions 16 to 21 carry 1 mark each. Questions 22 to 35 carry

2 marks each. Show your working clearly in the space provided and
write the correct answers in the answer boxes provided.

16. What is the value of digit 8 in 98617

Ans:

17. EXpress % in its simplest form.

Ans:

18. Wirite the distance between Point A and Point B in kilometres and
metres.

1009 m

Ans: km m‘l




19.  Wendy took her dinner at the time shown on the clock.
What time did she take her dinner?

2 P S
1/7%. 12 N\%
710 23
H k!
f :
<9 3B
3\ g

T

by o]
Z,
#
Qo

Ans: p.m,
20. Arrange the fractions in order, beginning with the greatest.
2 2 2
5 3 7
Ans: 2 ’
greatest smallest




The graph below shows the time taken for 5 pupils to complete a 50-m
race. Use the information given to answer questions 21 to 23.

Time taken to complete 50-m race by 5 pupils
22 e 2 S s e e

Time taken

(s)

John ' Trevor | Karen

Mabel - Sara

21.  Which pupil took the most time to complete the race?

Ans:

22. How much less time did Sarah take to complete the race than John?

Ans: S

23. What is the {otal time taken for the first 3 winners to complete the
race?

Ans: 8




24. Find the quotient when 769 is divided by 8.

Ans:

25. Joe coloured -112' of a picture in the morning. He coloured % of the

same picture in the afternoon. What fraction of the picture was
coloured?

(Express your answer in the simplest form.)

Ans:

26. After spending $3560 on a television set, Daniel has $585 left.
How much money did he have at first?

Ans: $

10



27. Use the following digits to form the greatest 4-digit even number.”
All'the-digits must be used ‘a}'\d_gach digit can only be used once:

Ans:

28. Joseph started his piano fesson at 1.55 p.m.
His lesson ended at 3.00 p.m. How long was his piano lesson?

Leave your answers in hour and minutes.

Ans: h min

29, 10 identical marbles weigh 35 g.
Find the mass of 30 such marbles.

Ans: g

"



30. Study the diagram below. The beaker contained some milk as

shown.

Lkt o S S L

Container Beaker

Fred poured all the milk from the beaker into an empty container.

He had only enough milk to fill jz* of the container.

How much milk can the container hold when it is completely filled?

Ans:

mli

31. Mark all the angles that are greater than a right angle in the figure
below.

12
























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































